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. Phosph(?lipases break down fats by
a. addmg a phosphate group to them.
b. reducing the double bonds to single bonds.

¢. hydrolyzing them.,
d. removing acetyl-CoA units,
ANS: C

o

Which of the following is true concerning phospholipases?
a. Many sna_ke venoms contain phospholipases
b. Phospholipase D is a component in some spider venoms

¢. Phospholipases in snake venoms can lead to the lysing of blood cells -
d. All of these

ANS: D

3. Which of the following statements below about the activation of fatty acids is false?
a. Activation involves the formation of a high energy thioester bond.

b. Activation is accompanied by hydrolysis of ATP to ADP and P;. .

c. Activation includes the formation of an acyl-adenylate intermediate. '

d. Activation includes hydrolysis of ATP to produce AMP and PP;, with the further
hydrolysis of PP; to drive the reaction to completion. ' -

ANS: B

4. Which of the following is not true regarding catabolism of triacylglycerols?

a. Control of release of fatty acids from triacylglycerols in adipocytes involves cyclic AMP
’ as a second messenger.

b. When cAMP is a second messenger in the catabolsim of triacylglycerols, it activates a

*  protein kinase

c. The protein kinase, once activated, cleaves fatty acids from the triacylglycerol

d. The phosphorylated form of triacylglycerol lipase is the active form

e. All of these are true

ANS: C

5. The use of cyclic AMP to mobilize fatty acids from adipose tissue is analogous to cyclic AMPs role in
mobilization of sugars from glycogen in the liver.

a. True
b. False
ANS: A

6. The enzyme activity catalyzing the reaction shown is best termed a

H a b
2 H.,
HyC Sic C‘CH-g2 S—SCoA Ho VO~ H
H I ~c” — H,CrC-C C-C___S—SCoA
OH i H TR
o o
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reductase

a.
b. hydratase

¢. dehydratase

d. dehydrogenase
ANS: D

7. Which group of small molecules best fit the boxes associated with the reaction shown?

a ] o |
Ho, Ho

H, \LC. H. C. Hp

HgC(C:‘C? CH'C\ /S—’SCOA I HQC<830>V \ﬁ—C\C/S—SCOA
H g ® H
CH il O (
O

a b
I. ATP ADP
[I. NAD' NADH
[II. NADP' NADPH
IV. FAD FADH,
a. |
b. 1I
c. III
d IV

1}

ANS: B

8. Which of the following is not a product of the activation of fatty acids?
a. A thioester

b. ADP

c. Pyrophosphate

d. Phosphate o .
e. All of these are products of the activation of a fatty acid.
ANS: B '

9. Fatty acid catabolism is called B-oxidation, since the second or 3 carbon from the carboxyl group is the
site of oxidation.

a. True
b. False
ANS: A

10. The reactions involved in B-oxidation of fatty acids include the following:

1. Cleavage of acetyl-CoA from the fatty acid.
2. Hydration of a double bond.

Scanned by CamScanner



. . A A 3T
it o o) ——

. "'M, e s =

= = . S -

3  Formation of a C—C double bond
4. Oxidation of an alcoho]. .

The correct order of these reactions is:
a. 12525354

b. 4935251

C. 3929451

d 2945351

e. 12945352

ANS: C

11. Which of the following vitamins and cofactors is not used in B-oxidation?

a. Biotin

b. Niacin

c. Pantothenic acid
d. Riboflavin : .
e. All of these are important in the B-oxidation of fatty acids.

ANS: A
How many NAD" are reduced in the degradation of palmitoyl-CoA to form eight mOleCUleS of
acetyl-CoA? 58, =
a. 1 : g
b. 7
c. 8
d 14
’ e. 16

ANS: B

13. Lipids yield more ATP than sugars because
a. they have more carbon atoms than sugars.
b. their carbon atoms are more highly reduced.

c. both of these
d. neither of these

ANS: C

14. A key intermediate in the catabolism of fatty acids with uneven numbers of carbon atoms is

a. malonyl-CoA

b. propionyl-CoA

c. oxaloacetate

d. phosphoenolpyruvate

ANS: B
15. The cis double bonds of naturally-occurring fatty acids react well with the hydratase enzyme.

a. True
b. False

ANS: B
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